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PART 1 (35 points)

Answer the questions for (A) A Summer's Reading.

A, A SUMMER'S READING / Bernard Malamud

Answer questions 1-4.

1.

4 Ty

George's neighborhood ().
(i}  has private houses
(ii)  has many parks

(iii)
(iv)

is hot and stony
has a lot of trees

(5 points)

George likes Mr. Cattanzara because (—).

(i) he reads to George from The New York Times
(ii)  he tells George stories from his youth

(iii)
(iv)

he asks George different questions

he goes to the park with him

{5 points)

When George meets Mr. Cattanzara a second time, Mr. Cattanzara treats George like a little boy.
Why does he do this? Give information from the story to support your answer.

ANEWERE ... nonresnmssssmnss sty s s ssans s e S0 U R S oo s

(10 points)
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For this question, choose ONE of the thinking skills from the Appendix (nawvy) on page 14
OR any thinking skill studied in class. Use this thinking skill when answering the question.

(10 points for the content of the answer, 3 points for the correct use of the thinking skill)

Mr. Cattanzara spreads the rumor around the neighborhood that George is reading 100 books.

Explain why he does this. Give information from the story to support your answer.

Thinking skill: T €hose: oo sovmmss ossress s nmmss s s sos s s s

AINSWERE  ovcommnnymssneronss s o o s s v i o 0 o3 D Ve s s S S S 3 A S Vs S AR T s

(15 points)
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PART I (45 points)
Answer the questions for either (B) All My Sons OR (C) The Wave.

B. ALL MY SONS / Arthur Miller
Answer questions 5=9.

5. At the beginning of the play, Kate says, "... everything decides to happen at the same time."
Which of the following happens?
(1} The Kellers plant a tree for Larry.
(ii)  Ann comes to visit the Kellers,
(iii) Joe puts Chris' name on the factory.

{rv) Steve gets out of jail. .
{5 points)

6. InActlIll, Jim says to Mother, "The compromise is always made." What compromise did Jim
make in his life?

ANSWER: ot 00 i e rpnsnenss s tm s e £ 50 AL L AT Lo AR e S £ SR £ SR AR S80S 88 SO R RS A A AR R e e AR

7. InAct I, Chris says to Mother, " Just because she isn't married doesn't mean she's been
mourning Larry." Explain why Chris says this. Give information from the play to support

YOUr answer.

ANSWERE sovrvrnmrnn s s s e s inn o
(10 points)
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8.  George's arrival at the Keller home at the beginning of Act Il is a critical event in the play.
Explain how his arrival affects the direction that the play takes. Give information from the play

to support your answer.

9. For this question, choose ONE of the thinking skills from the Appendix (novy) on page 14
OR any thinking skill studied in class. Use this thinking skill when answering the question.
(10 points for the content of the answer, 5 points for the correct use of the thinking skill)

In Act III, Joe says to Mother, "I spoiled the both of you. I should've put him [Chris] out
when he was ten like I was put out, and made kim earn his keep. Then he'd know how a buck
is made in this world." How does this quote show the connection between money and family in
the play? Give information from the play to support your answer.
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PART TII (20 points)

Answer the question for either (15) The Road Not Taken QR (16) The Enemy.

Suggested length: 80-100 words.

15. THE ROAD NOT TAKEN/ Robert Frost

"I roamed the countryside searching for answers to things [ did not understand." — Leonardo Da Vinci

Make a connection between the above quote and the poem. Give information from the poem to support

yOur answer.

OR:

16. THE ENEMY / Pearl S. Buck

"It is the enemy who can truly teach us to practice compassion and tolerance." — the Dalai Lama

Make a connection between the above quote and the story. Give information from the story to support

your answer.
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Use this page and the next (pages 11-12) for writing a rough draft.

/12 Toya Junn/

\

& oo ey 1

AY A S AN Y 4

\u. _ﬂ-m..

AT Sl S I

PAM Y




Nf ﬂll\.l llh\,wnlhlil\‘/ Iﬂ\/-lhlil \”/.Lth\/-llhhf \Ull/l:l!.\/ql..n.l \.j./.|lﬂ\/|ll..l. \..J’wi’lr\/«lil- \‘/ 1‘/..I|Ll..l _\.nlu_l. ll“\/.l.....r \...t/ l’ﬂ\/qll-.l.l \;l/ \lﬂ\/\'l:l.l. \”/ L l\/ql!..l \"1
: 7 h % NN h {2z, SN2 \h\\.u.hln\.\.nl/— h\\.........l\\ Mlh ~7. Vs, o \h\\.vh..\.\\/u..mfr\ LTENNE h\\uuh..n\\./‘u..“— \A\\U\\ \“ N/ N2, %
PN LA LA N LA AP = 0 F L A A O T T LT OINIINL A Dl L
P SN Nl DIaNE AL R DeTT e s ey ._l.w\.wﬁv ¥ .v.l_l..,\..%v ) .v.lﬁ..w\w..av Sy = 4N qCLLT TNILL U “.vﬁl_.hw\...f%..v. ¥ .VI_I‘.,\WA.V...
7T 2o AN V7N T 7 e A7 ) SN NN S AN AT N LA T T AN LA T O AN AT A AN T RVAT N SN TR T NS AT ST L AN

\'/\d -/, I\f/l-sl./ f\\-\!:’r\nwll as.ll\.l\\VlI\.l ~ :_l.l\.....\\vlu....\lfll —s..ll\l\\“-./l\ /l.asl-/\.l\\l\l./l\nw oYY I.\\Vl/\d/lan [ \..l/\ VAN~ \If\al.l-ul.l I.\\

- - —ty -
z !\’f\\\s\\\\\\\ I T PVCITNA TP PV VP PRSI PN T I PUnTI T A A I PA PV FIA I P TP SNt 2 -.W...lfb‘\-\\_\lt\\\ r\..."»\\.u‘\\\\\\ P\l.ul\-l\-\\\\\A

~.
£ R
D D
[ = —
3 o
= =
an -
£ £
[y ~
i
A
*
z
N
[4]
D
"
I
[=
1=
[y)
c
A
|
a,
ot
2
=3
e Z
ERd ]
A
b o
....u W 5
3
Y A
e B
,m e
>
e ) E:
f
Q
-~
)
~ n
- Q
s
— -
= =
— Ny
1 ~0
—_ o a
—_— w o
[ .
L} n



3 NHIN

7Ynan no ool Nranb by 97 nerhn

nnbsna
SN MIYTHT NTNPY DN 1Y
TPNA TN MY XK DUI97 W @ IvnD PR

o

4 b hyg &

-

Naoy + 0146584 '01 .2 TYIN .NYYWN VP2 MO0 20N

Write your final version here:
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